
TC-1360-IP
Rev. A, July 2017
www.commscope.com

Installation Instructions

OTE-M Pole-Mount Bracket Kit
660001189 Rev A 
R AR A

© 2017 CommScope, Inc.
All rights reserved

This product is covered by one or more U.S. 
patents or their foreign equivalents. For patents, see 
www.commscope.com/ProductPatent/ProductPatent.aspx

1

Table of Contents

1 General. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 1
2 Kit Components . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2
3 Installing an OTE-M Pole-Mount Bracket Kit . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2
4 Product Support . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2

1 General
The OTE-M Pole-Mount Bracket Kit is a unique solution designed for mounting CommScope’s Mini-OTE
300 in applications that require the product to be secured to a pole. See Figure 1.

Figure 1.  OTE-M Pole-Mount Bracket Kit

MINI-OTE 300 TERMINAL ENCLOSURE

MOUNTING BRACKET
3/8” SELF-TAPPING SCREW

CABLE TIE

MOUNTING BRACKET

3/8” SELF-TAPPING SCREW
CABLE TIE SLOT

CABLE TIE SLOT

MOUNTING HOLES

MOUNTING HOLES

http://www.commscope.com/ProductPatent/ProductPatent.aspx


TC-1360-IP
Installation Instructions

www.commscope.com
2 Kit Components
The OTE-M Pole-Mount Bracket Kit contains the following (see Figure 1 on Page 1):

• Mounting Bracket (2 ea)

• 3/8” Self-Tapping Screw (4 ea)

• Cable Tie (2 ea)

3 Installing an OTE-M Pole-Mount Bracket Kit
Use the following procedure to install an OTE-M Pole-Mount Bracket Kit (see Figure 1 on Page 1):

1. With the bracket’s cable tie feature (slot) facing away from the enclosure, align the mounting 
holes of the brackets with the mounting holes of the enclosure.

2. Feed the 4 screws through the holes in the brackets, hand threading them into the holes in the 
enclosure.

3. Securely tighten the screws with a 3/8” wrench.
4. Feed the 2 cable ties through the bracket cable tie feature (slot).
5. To secure a Mini-OTE 300 Enclosure to a pole encircle the pole with the cable ties and cinch 

them thus securing the enclosure to the pole (see Figure 2).

Figure 2.  Pole-Mounted Mini-OTE 300 Terminal Enclosure

4 Product Support

• To find out more about CommScope® products, visit us on the web at www.commscope.com/

• For technical assistance, customer service, or to report any missing/damaged parts, visit us at 
http://www.commscope.com/SupportCenter
Page 2 of 2

http://www.commscope.com/SupportCenter
http://www.commscope.com/SupportCenter
http://www.commscope.com/


	1 General
	2 Kit Components
	3 Installing an OTE-M Pole-Mount Bracket Kit
	4 Product Support

